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YmoBHI no3Ha4YeHHs:

T npocmiHKU wWo deMOHMYKMbCSH

npocmiHku wo 36odamscs

NpoK/AadaHHs KaHanizayii
ma Bodonocma4yaHHs

V7777713

2 nobepx
] _07l I
I 34,46 M \
|-|_'
Ne6 |
25,04 M -
=
o
kz, 31 M i
\ - Ne5
22,64 M
\ 1
Cneyugikayis:
NeT k6-pa (20,46 M2 Ne5 kb-pa | 22,64 M2
NeZ kb-pa 2505 M2 | N°6 kb-pa |25,04 M2
Ne3 kb-pa 26,16 M2  |N°7 kb-pa |34,46 M2
Ne4 kb-pa | 34,11 M2 Xon 1 936 M2
Xon 2 4,31 M2
llepennaryBarHsa kBapmupu
/3 llign. | Aama
Macwmad Apkyw | Apkywib
Kui8, Kpuboroca 17 100 05
lnaH nepedydoBu 1 ma 2 noBepxiB HHH##




